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QUESTION 1

Provide the equivalent measurement for one pint. 

A. 4.2 liters 

B. 0.25 liters 

C. 0.1 liter 

D. 0.474 liters 

Correct Answer: D 

 

QUESTION 2

Which method remains the "gold standard" for ANA detection? 

A. Radioimmunoassay (RIA) 

B. Lateral Flow Immunoassay 

C. Enzyme Immunoasay (ELISA) 

D. Slide-based immunofluorescent assay (IFA) or Colorzyme 

Correct Answer: D 

 

QUESTION 3

Failure to tightly seal specimens for sweat electrolytes during collection and transport will cause: 

A. decreased values due to exposure to air 

B. decreased values due to exposure to light 

C. increased values due to evaporation 

D. increased values due to cellular contamination 

Correct Answer: C 

 

QUESTION 4

A positive DAT is consistent with a diagnosis of hemolytic disease of the newborn. A hemoglobin performed on the cord
blood serves as an indicator of the severity of the disease. In order to detect the presence of antibodies fixed on the
RBC\\'s of newborns one should: 

A. Perform a direct antiglobulin test (DAT) on the cord blood 
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B. Perform an indirect antiglobulin test (IAT) on the cord blood 

C. Test the baby\\'s cells with typing antiserum 

D. Look for agglutination in a mixture of mother\\'s serum and baby\\'s cells 

Correct Answer: A 

 

QUESTION 5

According to the Michaelis-Menton kinetics theory, when a reaction is performed in zero- order kinetics: 

A. The substrate concentration is very low and the reaction rate is dependent on the substrate concentration 

B. The substrate concentration is in excess and the reaction rate is dependent on the enzyme concentration 

C. The enzyme concentration is in excess and the reaction rate is dependent on the substrate concentration 

D. The substrate concentration is equal to Km and the reaction rate is dependent on the enzyme concentration 

Correct Answer: B 
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